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GEOLOGY
( General )

Course : 101

( General Geology )

Full Marks : 80
Pass Marks : 32
Time : 3 hours

The figures in the margin indicate full marks
for the questions

UNIT—1.1
( Introduction to Geology )
( Marks: 15)

5. <R SRR TR B i wre afd oo oy
gt f i 6
praw a sketch of the internal structure of the
earth and describe briefly about each part.

%7/ Or

,@@amﬁﬁﬂﬁﬁﬂhﬁﬁiﬁ'ﬁ%ww
oifR, TR T 2

write briefly about different methods by
which the age of the earth is determined.
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2. woe il @ PR $RS B Gt o ¢ 2x2=4

Write short notes on any two of the
following :

(a) =TT
Weathering

(b) TR T

Products of volcano

(c) e

Sand dune

%M/ Or
=fic RIS 1 IR TR 36 = | 4

Write on the geological works done by rivers.

3. wﬁ@wﬁmwﬁmwzﬁﬁqﬁmm
St o |

Define minerals and rocks.
examples of each type of rocks.

4. W% TSI AR Sereq - 1x2=2 ‘

Choose the correct answer :

Give the

(a) W@mmﬂmw cﬂmmo
(wmﬁtm/&ww/wﬁas)

Active volcano is found in

which t of
India? part e

(Andaman-Nicobar / Himalaya
Mountain / Karnataka)
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(b) ‘TR @I’ P! AR AT WP 9
(@ / 7o / RRR)

‘Moraine’ is associated with which
process?

(River / Wind / Glacier)

UNIT—1.2
( Crystallography and Mineralogy )

Unit—1.2.1
( Crystallography )
( Marks : 25)
5. oS PR W% Teq Rk Sfrer . 1x2=2
Find out the correct answer from the

following :

(a) AT T FL TLLICS (IR T |

(= /5=3)
Minerals are always found in crystal
form.

(Yes / No)

(p) A T/ R W |

Garnet is an isotropic/anisotropic
mineral.
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6. oS FarR® R @ PR ¢S 7Y G ft -
21x2=5
Write short notes on any two of the
following :

(a) T3 e
Miller indices

(b) W‘f’ﬂ@
Axial ratio

(c) TH& e

Twin crystal

7. oo AP R ceen RReRr R R -

Write on any three of the following :

(a) TR T eReT g CiC L

Symmetry elements of f
no o
tetragonal system rmal class

(b) RIETIT S e g o

Symmetry elements
of of
orthorhombic system normal class

4x3=12 |

(c) (FFIR] Txers)
Twinning in feldspar

(d) % TR
Crystal lattice
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g, ware fr R e ffoR Reca oy or i -
2x3=6
Write short notes on any three of the
following :

(a) (TR =l

Space lattice

(b) sifcTa A5 RfE

Law of rational indices

(c) B
Interfacial angle

(d) Rl o R 2o
Point group and space group

Unit—1.2.2
( Mineralogy )
( Marks : 25)

0. oo T R oo Br R oyts B 3x2=6
Descfibe briefly on any two of the following :
(o) T o SPTYRY {0
Ordinary and extraordinary ray

(b) el

Pleochroism
() et 3o
Interference colour
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10. w=e AP Sey fom 4x3=12
Answer the following :
(a) ERIDER IR WIF was of forey |
Write on physical and optical properties
of quartz.
() FRFT TR T o BE @ Shve
LN

Describe the procedure for determina-

tion of optic sign with the help of
microscope,

(c) ‘et T2’ IR ot e

Describe the use of ‘nicol prism’.

11. PR T R-orf wfies Ry
- TEAPE, 3

5
Describe the interference figures riaxi
and biaxial minerals, of uniaxial
12. &=© fil R QN Hm Tew oy 1x2=2

Answer any two of the following .
(o) CTRE I ot R 9

what do  you mean ‘
refraction’? by ‘double
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(c) FAEm TeRfors fa-aefers Ifm -1 |
(T /7=) (3% o ik Sferean)

Pleochroism in tourmaline can also be
called dichroism. (Yes / No)

(Choose the correct answer)

Unit—1.3
( Structural Geology )
(Marks: 15)
13. o© RIPT R e R R vy G B
2x2=4

Write short notes on any two of the
following :

(a) Rt e Regfeaa
Distortion and dilation

b A=
Ripple marks

(c) e TR Sy
Convergent plate boundary

” Sred W B S R R eRas a2t e
R RiSH wepmz 39 =7 1+2+3=6
pefine fold. What are the reasons for the

formation of a fold? Describe the different
parts of a fold.
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71/ Or

pfee Brrees @t 31 =2 oS SeeiRm T
T B | 4+2=6

How are faults recognised? Write briefly
about the origin of faults.

15. wore Rabwam 3w R qw12 W awomz & R0
= T 't R v fran 1+2+1=4
What do you mean by plate tectonics? Write

on the importance of the plate tectonic
theory. Write briefly on ‘Great Boundary

Fault’.
W/ Or
ffem mﬁwﬁmm%ﬂ@mqu, 4
Write on the different types of unconformities
with suitable diagrams.
16. T o] IR Thre . 1

Choose the correct answer :

wwwmm e
<51 | | B

(= /7=d)

Horst and graben are in fact 4 pair of

normal faults,
(Yes / No)

¥* % %
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